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* Chapter 1: Linear Models
Answers to 'dd'Numbered Homework‘--Problems and
| A, swérs toa foblems in thé Ch view Se

;| ekhon/BIoom.-

. _. 1 1 Graphing a Lmear Equation

' 1). Yes

13).

B 1 ZSIope ofa Llne

. m=2 3). m=1 5). m=-2
. m#undeﬁned. 9. m=-1 1. m=-2
13), m=2 15). m=3/4



Answers To Odd-numbere_d Problems

1.3 Determining the Equation- of a Lme

1. y=2x+4 3. y=6x-13 5), y=2/5x~4

. y=Tx-32 9), y=52x-10 11). y=-4

13). x =3 15). 2x—y=7 17). 3x -4y =—4
49 Hr-3y =17 |

20 Y= vy o Y= 4 (x-w)
23) V9273006 0/ y-2= <% (xe0)

| _ 15) \‘“j:'"scxl-i'#l)-

1.4 Applications _ _
3). y=20x+350 5). y= 80x + 24000

1) y=25x+ 1200
9). y=7x-338; 138 11). F=9/5C+32; 77°F

7. y=2/5x%; 68

13) y= oFTBx+ 228 4 42,925 muthion people 10 2025
19) Y= 10%HBLOO | (4400 students wn 2010

AD) \| =\ BX +10) The costr s $92 fora_thome.
LsING Yoo kwh of electmady |

ey modﬁe\

\C‘) 0'5 \I:\l‘/\*‘\"c’f)oO b) -\{_13130.)000 C.) *=$'1500

24) ©) Y=3IXTIo00 b) When F100 s spent- 0o
Cn.d\ler‘hsmg) 1200 CuPs

of- coffee are sold .



I. 1.5 More A_pplication’s o
C o Dox=3y=13 | B
3’“-$u-50 \1 uasoo eros .
5)%\0.«1 T cosis $‘3‘1 Pkm‘.[t costs ¥4q; Plcun I\S \oe,H:r
) —tso mdes) ‘oo‘t‘e\ P\cxns cosi— $(<:vl.':':0
) Soppl\, curva.y l-icc:x 4200
| q) %= Yooo ccoh\e,s cost = revenue = $3200 _
Y R= ‘6000 POUrs c(lsocks cost = revenue,= $3&>OOO

13) o) cost -Func,hcﬂ = (O%+T00
) Fmed cost = $700

' c.} W, = U—(CD pcuﬂ&& c\\ re_\temoe, = cosk = $1l00

1 6 Chapter Review _ :
1. y=0. 2). =213 . 3 -3

4). 4,-6 5), y=3x+5 . 6).3x+2y=6
7). y=3x+9 8). 3x+2y =18 9). y=9/5x+32
10). y=3x-1 . 1. G3,-1) 12). No

13). (2,1), (5-1); Answers will vary  14). (3,0), (3, 1); Answers will vary
15). The line through (-3,00&(0,2) 16). The fine through (6,3)& (1,1)

7). y=4x— 1405 140 18). y = 1.35x + 15.2; 142.5
.. 19). y=30x+2750 20). y = 10x + 1500; 4500
21). y=15x+1200; 16200 © 22, y=10000x +280000; 530000

23) y= LSx+dsy o using %= A& of years aﬂer 1245
y= he% ~28q97y af using X = cmﬂ\dav-\feaf

o) a) y=-2%x+230 b)) 30 bouls of sopp ¢y LS F

25) §=-30x+450 2Us) N = Box-400

27) Price = $6 § nomber of mogs = 1300

j"l‘BS Plon X H'—'ﬂof.).ﬁ)k Plandr Y=Y
At %=200 miles Plon T costs $ ooy Plan Tt costs ¥45
RBoth cost the same at X=(ib miles

29) o) 4seo e cfis &) T80 viems

':_r,o) LRI coCioo \;cms 21) § oo sales

82) 600 Hems | y reNenve = cast = "’5\5000

33) Yooo CFL bolbs ©34) 2500 tems 355\15c:osmuers





